SHEEE $220 BEHMXILyIY1ITNT v RR—ILAS BF

B & SR
188 : SH7TE18188 (1) = " . "
Sun . =1 234 . A4
oBE:  SRTE1S198 (8 H1%8| A-B BRINER C-D BRALINEERE
# B8
c B1HEBDOP v IEEIE15D
. INREI RS . FINER . R \ERT
TOEH AR 1B S (A ARE20% E-F NEREINER |G H BRERI R [«J WEINER
s HENRIBSIEHE™40D an . e o . o
o B ,\P-“-/\ . al\n“"/\ . I\'”""
(R0 7w T10%) KeL H2IVERR M+ N OEINER O-P WERINFERR
HElE  5-1-5-5-5-1-5(10) Q-R T\ ST BZINER Ue+sWi £/ (PVBEE)

[ CREBS® [ 18198 |

B | SR B NE] B | St
=B WE 2#EH| oOE BB BK
BiL=15E ' BEllsR
[D] mos | : [@] mwm | [@] mF |
31 50 | 52 41 28 63
|
46 21 : 29 35 33 25
57 30 | 25 59 48 20
BEEEN G = |16 »& | [6] on | [SlhEmm &%

] 2 3
57 Q 25 80 (|> 19 18 Q 26
46 I 30 ) I 20 43 I 16 32 4 35 52 20 I 32
I I I | I I | I
1 2 3 4 S 6 7 8 9 10 11 12
" i P 0 B . = z = ] i -
i 2 & : B = w = = 5 1 ’
l | I | I |
20 0] 28 32 28 46
BT B lc| @mE) |
@ ©
58 | 22 52 | 41 29 | 56
48 12 0 I 20 : 30 57 19 42 36 I 38 61 I 23
I I I I | [ - | I I
13 14 15 16 17 18 19 20 | i | 21 22 23 24
" S ° s 2 # Al = ] A & B
s 1 : g o B ity = 8 53 i
L I I | | |
58 18 25 30 32 53
BREEE BEEET HEEET
@ :
39 | 18 42 | 27
25 _I55 15 2 4 o5 c’)_l_lgo 33 20
25 26 27 28 29 30 31 32 10 0
B ;I% i 131 = I 20 0
“ & E m ||k & W W fea] sw | [es] miE |
l I l |

50 20 H 20 O

[c] mgmn | EIREET [ ] B |




RHCEFE $£220

PBEHXRIL VY AI=NZT Y FR—ILAS TF

B & 2B
188 ®H7HE18188 (D) - = n ~ -
oBE:  SHTE1H198 (B9 SR8 A-B BRI C-D BRALINERL
Il
- BIHBOT v TRIE155 N . — N . i N
s A Eataaooy | | ETF WEBIER [G-HT m@ELE | 120 mElE
e IBELEHE[40D i . o . . .
e AT Keli #&0#% [M-N{ BENFR |0-P! BRI
HewM 65-1-65-5-5-1-5(10) Q+Ri @WANEKR |S-T BRNER (U Wi LR (PVBSHED
[ ks | 18198 |
E | S E | 5B @ | hHE
@ FRR sE] B e 28
B3 i BEILAIR
(D] @m0 | | @] = | GEE
48 29 : 49 10 13 35
44 26 : 14 38 54 11
49 21 I 17 80 65 2
@] =22 | (G| i |! 6] w= | |© 822 | (6 s | (9] @5
[ B8 | 18188 |
@ @ | ®
19 | 58 24 | 50 23 | 27
43 26 o 20 30 I 14 30 29 20 I 0 33 27
I I | L | |
1 2 3 4 5 6 e 8 : 9 10 11 12
i B = & = k N 15 i o " 5
= i 1) i W RS = ;|| & = ' =
l | I | I |
20 0] 7 34 o 20
BNEEET 8] rrn | lc| nigmi |
@ ® ®
%0 | 38 46 I 25 14 I 51
20 I 49 0 20 15 47 T4 I 18 33 I 14 23 73
| I | | I
13 14 15 16 17 18 19 20 21 22 23 24
9 5 A B = 15 = #l il = R -
s 58 g I S i = & =] 53 i
1 | 1 | | I
20 0] 34 29 16 43
| ‘@ | BEEET HEEET
BE
16 13 70 57 20 20
45 47 6 20 (6] 0
29 10 4 47 (6] 20
2] =8 | (2] w&m | (=] smw | [0 we | [=] ww | [=] o& |
lc] w@n | EEEE T




